TR rBBuS AR | (5o & e PO 1 2)

1 % AR — iR b e Rt - ¥ 3

150 o & enZ ¥ s E Aﬁé@%m ﬁ»450 SR /y/‘:;oo
s A R4 E 300 A4 R 4

- 450 -
(1) AT dE o cnpEdE & AR
(2 =V ARES S R

A BLs4F H_450 o A 9

2t

Y PAASE

no
e
i

FEA B A4 300 2 & F R D
“d Agke L4 500 o = - 500
PR A 4500 2 24 T REE Z 1300 F

d Agkwd 4 55 %

i

=
N

O
¥
33’93
“?’fT

-\1_1 %\5‘

=

(A

18

A

\ P
N

Al

e il 30°—60°—90°= AR EL (7 sk PES B2 &)

1. 4ot B2 &= 43, ABC enZA=60°" P

2. 4ot P &= &35 ABC ch/A=60°> % BC =3/3 >

L S— A
B -C

AV

3. 4oLl % &= &3, ABC ch A=60° % AB =12 - A

e R A
B -C

14



